COT 5405 Spring 2004

Homework #3: Due 4/13/04, Tuesday

Directions: Do #1, and choose either #2 or #3

1) An independent set of a graph G = (V,E) is a subset V' ( V of vertices such that each edge in E is incident on at most one vertex in V'. The independent-set problem is to find a maximum-size independent set in G. Formulate a related decision problem for the independent-set problem and prove that is NP-Complete. (Hint: Reduce from the clique problem.)

2) Give a polynomial time algorithm to solve the 2-SAT problem. (This is the satisfiability problem where each clause contains two literals.)

3) More fully explain how the "widget" in the proof on ppg. 456-7 of the text works. Explicitly show an example of the transformation on a 3-SAT formula with 2 clauses. 

